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What’s Your Problem?

1. ass Your Left Hand Opponent opened 1D and your partner
K1063 overcalled 1S. Your Right Hand Opponent passed, so it’s
A8 your turn to bid.
QJ96
What’s Your Problem?
2. 874 Your partner opens the bidding with 1D and your RHO
K109 overcalls 1S, so it’s your turn to bid.
KJ106
AK4
What's Your Problem?
3. q9ss Your partner opens the bidding with 1INT and your RHO
74 overcalls 2H, so it’s your turn to bid.
AQS6 -
K87
What’s Your Problem?
4. kaa3 Your LHO opens the bidding with 1C and your partner
KQ43 makes a Takeout Double. Your RHO passes, so it’s your
75 turn to bid.
K43

What's Your Problem?
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1.DWE AQSB G M TR T ST M TR
~None K105 il I P
i o g e e S (PR,
KQ74

T g Pass D’b[e
A 45 _ All Pass

Q65 . better South cueblds (showmga good hand) West dou S
A9872 - -2Dto show that the 1D opener was a very good suit but that o gha
L5 _83- _i ©o doesn't daunt North who corr"__’i- _' wews h!s hand as wel!
i, B AQ7 § TRL ':'{_worth an Opener and brds 4S C e




CUEBIDDING THE OPPONENTS SUIT (2

1} vercails.

ATy Oamng AnA &

Let's assume that partier has opaed 1D and KHO overcall 3. These bids are avnilabie 16 you:-
ay Kaising 1o 2D (b — 9pley er 3D (fo or il ply
by Bilding INT (7 — 10 gl or INT (i glf) or SNT (12+ plfy, WITH A SPADE STOPPEK.
o &'Mh& a naw sal with (o+ gl
A) ”"]“3‘5 a Nzgatfw Double 1o show hearts

WMwodd&oudom}ﬁﬂlfoﬂomk\g hands?
0 Axx by Kxx O w 4 Q
AQx AKx Axx Axx
Jioxx QX AQioxx Kxxxx
Axx Kioxx Qiox AKQ

THE ANSWEK IS TO CUESID 28, ALLOWING PAKTNEL TO TELL YOU MOKE ABOUT
THEIK OPENING BID. |

Wilh 2 miiimum opensr, partier can vebid diamonds, vebid 2NT with a wcf’wormd 3¢
wilth a second sl - | |
With  better than minimum opaner, partier can jump in Aiamonds, jump te SN, yump in dubs oy
aven cuehid ﬂd\}’badk a gou. | |

Mter pu cueid 2.8, v'faoa;bﬂo Aoubles or bids, your parther can show a MINIMUM Mbg
passing. Lf,arfiwdm angthing olher than pass, hesshe shows something extia, ather in tarms of
poids or distibution. |

mg,upmmmmxmmmgma uiu}’(mhuhopaw'emkbfwmkem
pebxA showing & minimin opener, the cudvdher sk vetiarns to opanar's sal. THIS SHOWS THAT
THE CUEBID WAS A LIMIT K AISE. Stmdlary, Lf Wmf(s a rebid showing a belter than thimlin
hand, than gou show the Limt K atse by retiurning 16 opaner's sul.
*wmwwm&wmmcmuwmn Linat Kaise”, then gou can_jump in
parther's sl hen gou have a preemplive hand (¥ o move trump and just'S o b glfy. This can be
very destiuctive t6 the opponants bidding,



Cuebidding When The Opponents Overcall

1.DIrN Q76 N E S W
None 185 1D 1S 2S Pass
AK873 2NT  Pass  3NT AllPass
K6
15 K10982 Over partner’s 1D opener, South would jump to 3NT if East
10942 A63 passes. However, when East bids 1S, South is worried about
Q109 6 the spade stopper being knocked out at trick 1. South should
1873 Q1052 Cuebid 25 showing a good hand and asking for more
A43 information from partner. North should bid 2NT with a spade
KQ7 stopper (Q76) and now South is comfortable in raising to 3NT.
J542 East will probably lead 10S to North’s QS. North must knock
AS4 out AH first so that when West later wins QD, he has no spades.
2.DIrE K872 N E S w
NSvul K762 1D 15 25
5 35 4C Pass 5D
9872 AltPass :
1043 S | :
A4 Q53 Over East’s opening 1D, West has an excelient 12HCP with a
AQ1043 KI876 very good 5 card diamond fit. West wants to go to game but
Q104 AK6S when South overcalls 1S, West cannot bid 3NT. 5D means
AQJes that partner will have to make 11 tricks so West Cuebids 25,
J1098 hoping that partner might have a spade stopper and bid NT.
92 _ North has a good raise to 35 but East can bid 4C with 13HCP
3 AND a singleton opposite partner’s Cuebid. South shouid
jump to 5D, knowing partner is short in spades.
3.0Ir'S A65 N E S w
Ewwul Q7 o T - 1C 1H
AKQ ' 2H - Pass  2NT Pass
K942 ANT  Pass  6NT  AllPass
72 10943 - | © e :
Kie54 9832 @ Qver West's 1H, North is clearly going to game and maybe a
8765 932 stam. North should Cuebid to tell South he has a good hand
A3 76 and to discover more about South’s opener. South knows
KQi8 - that North doesn’t have 4 spades (no Negative Double)} and
A0 . . _so bids 2NT to show a heart stopper and a minimum opener
J104 (12 - 14). North bids a Quantitative 4NT and South raises to

QJ105 6NT with a maximum 14 HCP.



CUEBIDS WHEN THE OPPONENTS OVEKCALL PALTNEL'S INT

When WW’W’W INT and gour (@M’ Hand merboabtn or bifs 2 o,f asal; t}’o/fl’m
fnf"éwfovs with the way tn which gou were gotny o rm?m( This s WdegtﬂbfaﬁrM
KHO's u’d...agm RiumerOus mmits;. For example, of ﬁegbds( 2D, drmay show diamonds OK it
may be a Transfor [ heartt OR. i may show the majors OK (tmay show diamonds and another
s, dit.. Mother complicalion i that varous glagers mdvf,fwt’mﬁods 1o combal thes
interfarence. Some play Double as. Negalive, some Double 15 show diamonds and some plag * Stoien
80l Doubles * showing they woudd have bidl 2D 16 Transfer 16 hearts. This can all be vary confusing,
MM*WWW&W‘YMMW?"K&‘

My recommendalion s s~
WHEN PAK TNEK HAS OPENED INT AND £HO HAS INTELFELED,
ALL SYSTEMS ALE OFF. ANY ID YOU MAKE S NATUKAL .

With o — F(Bpls and no 5 cark or longer sttt s S ... PASS
With # - 7(8)9&Ma5Morbu5ww}’ ......... &dsowmhfboamdowaﬂﬁzzm
Oltherwise PASS.
With $(pls and a stopper in the opponant’s 1YY Y., &1 2 i
With (o+plt ad a ct’o”ar th the o”oml’e sl ... essusasssans BAINT
With IO-!'P”E ad a5 cad or longer SUE vevvremsseereresemessesssssonsessssesensss BUA OF J“"‘? e 3 o,f gour sul,
MAKE. A PENAL TY DOUBLE of the spponant’s bl wilh. ¢ brumg sitting bekiud the overcaler.
Wilh (9o+ plf, no 5 card sul and wo stopper, ITIS TIME TO USE A CUESID OF KHO's SUIT.
THE CUEBID TELLS PALTNEK THAT YOU HAVE ENOUGH FOK
GAME AND GIVES HIM/HEK THE OPPOK TUNITY TO 8iD 3NT
WITH A STOPPEK OK 8ID A # CAKLD MATOK OK BID HIS OWN
SUIT.

When the opponant interferes al the 3 level, gou won't have # lrumgp 16 make a PENAL TY DOUSLE
s0 most pevple glay Double as NEGATIVE.



1. DirS
None

K19876
AQ
J1064
9

2.DIrS
Both

642

A6
KQJ984
15

3. DirE

Kig4
14
K65
Q542

CUEBIDS TO THE RESCUE

104
K954
AK7
11064
32
873
9532
Q752
AQS
11064
Q8
AKS3
A1105
1107
63
A1063
9873
K943
72
982
KQ
Q852
A105
KQ74
109763
105
943
983
| A2
873
AQJ107
AJ7
Qs
AKQ962
82
K106

N E ) W
INT 25
35 | Pass 3NT  AliPass

Over INT, North was all set to use Stayman and head for
game. When West overcalls 25, North should bid 35, telling
partner that he has a gamegoing hand, no spade stopper

and probably no 5 card suit. Over 3S, South has 2 choices...
3NT with a good spade stopper or bid 4H since partner is
likely to have 4 of them. | would choose 3NT since it’s a good -
spade stopper and North may not have 4 hearts.

N E S w
CINT 2D
3D Pass 3H Pass
35 Pass 3NT  AllPass

Over the 2D overcall, North still wants to be in game so
cuebids 3D hoping to hear South bid 3S. South bids 3H but
might still have a 4 card spade suit so North bids 3S. With no
4 card spade fit South is forced to bid 3NT despite having

a single diamond stopper. West feads KD but NS have 9 top

tricks with 4 spades, AD and 4 clubs. { 2D would just have
gone set by one trick).

N E S W
INT 2H 3H
Pass 4D Pass ?

A solid 2H overcall by South but North has 10 HCP and
would like to play 4S if South has a 4 card fit OR play 3NT if
South has a heart stopper. The cuebid gives South the
opportunity to show either. On this hand South denies
either by bidding 4D, showing a diamond suit. North could
raise to 5D but let’s stop and think for a moment. South
couldn’t bid 3NT so doesn’t have either AH or KH. SO

EW WILL CASH 2 HEART TRICKS OFF THE TOP. it’s likely we'l!

lose anocther trick somewhere, so | would pass 4D.



Cuebids Over Partner’s Takeout Double

When your Left Hand Opponent opens 1 of a suit and your partner makes a Takeout Double,
it should show:-

a)} An opening bid.

b} Shortage in the opponent’s suit with support for the other 3 suits.

c) 4 of the other major if partner doubled a major.

d) Atleast 3 of each major if partner doubled a minor.

ESPONDING TQ PARTNER’S TAKEQOUT DOUBLE.
With 0 -~ 7(8)pts, bid your best suit at the LOWEST level
With (8)9 — 11pts, JUMP in your suit. THIS IS NONFORCING.
With 12+pts, bid game or CUEBID if you need more information about the T.0.X.
With 7 — 10pts, bid 1NT with a good stopper in the opponent’s suit.
With (10)11(12)pts, bid 2NT with a good stopper in the opponent’s suit.
With (12)13+pts, bid 3NT with a good stopper in the opponent’s suit.

N
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CUEBIDDING OVER PARTNER’S TAKEOUT DOUBLE.

Sometimes you might have an opener of your own over partner’s Takeout Double. This

~ means that you want to go to game. However, you may need more information from partner
before you can decide which game. For example, your LHO has opened 1D and partner has
made a Takeout Double. You hold:-

a) AQ7S . b) KQ43 ) K
2 KQ43 10963
A1064 . 75 Q1042
K93 K43 AK7

On Hand a}, you have 14HCP and clearly want to be in game. Partner may have 4 spades in
which case you want to play 4S. if not, then you'li play 3NT. Bid 2D. If partner bids 2S, bid 4S.
If partner bids 2H, bid 3NT. Partner knows that you have a diamond stopper and 4 spades.
On Hand b), you have 13HCP and clearly want to be in game. Partner is very likely to have 4
of one of the majors but which one? You don’t need to guess. lust cuebid 2D and partner will
respond 2H or 25 and you raise to the 4 level.

On Hand c¢), You have 13HCP and again you want to be in game. If partner has 4 hearts, then
4H would be a good spot. Cuebid 2D. if partner bids 2H, jump to 4H. if partner bids anything
else, jump to 3NT.

You can sometimes use a cuebid of LHO’s opening suit, when you have an invitational hand.



1. DirS
NSvul

A73
AJ103
64
AQ85

2. Dirw
None

K43
97

AKQ32

172

3. DirN
Ewwul

K954
AJ83
Q7
754

Examples Of Cuebids Over Partner’s T.0.X.

j10854
72
105
10942
KQb62
Q65
A92
16
9
K84
KQJ873
K73

AQ2

Ki82

94

A865

987
543
1765
1043
11065
AQ106

108

KQ9

76
Q7
K982
AK1096
AQ102
K62

A1103

12
183
10954
654
Q83

N E s w

1D D’'ble
_ Pass 2D 3D 3H
 Pass 4aH All Pass

 When West makes a Takeout Double of 1D, East has 12HCP

and BOTH 4 card majors. It's almost certain that West will have

a fit in one or other of them but which one? East doesn’t have -
to guess ... a Cuebid of 2D will give West the opportunity to bid

a 4 card major. Fven when South bids 3D to show a good
diamond suit, West bids 3H and East has an easy raise to 4H.

The cuebid showed a good hand and asked for more information.

N E 5 w

_ 1D
D’ble Pass 2D D’ble

2H Pass 4H All Pass

A solid 14HCP Takeout Double by North and South has 12HCP
with both 4 card majors. Game is probably on but in which
major? South uses the Cuebid of 2D to give North the
opportunity to bid hearts or spades. West doubles 2D to show
good diamonds but North still shows the 4 card heart suit.
South has an easy raise to 4H and North loses just 2 diamond
tricks when KS finesse is on side.

N E S w

1C D’'ble Pass 2C
Pass . 2§ Pass . 38
Pass 45 All Pass

Over East’s Takeout Double, West only has 10HCP. He/she could bid either
2H or 2S showing 9 — 11pts but this is NONforcing and East might pass with
only 3 card support for the suit West bid BUT 4 card support for the other
suit. West should make sure to find the right fit by cuebidding 2C. When
" East shows 4 spades, West should now invite game by bidding 3S. With
15HCP, East accepts and bids 4S. East will lose 2 clubs and possibly QH,
although it does drop if East does not take the finesse.




America's Finest Bridge Newsletter
prepared with YOU in mind.
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. designed to improve your game 4
. easy to read and understand 4
. timely and relevant topics 4
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. challenges to bidding and declarer play-k (®)
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